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M 2o 2ZXE L 22X Y
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
dds 22X =4 608,749 227,753 380,996
Fds2Zdl=24d 285,284 227,753 57,531
101 @124l 30,646 28,723 1,923
04 JIZHHZ2Z2XNSE+ 30,646 28,723 1,923
o ZHSEXN Y MBI ALY
138,980& » 10¥ » 21 29,186
o AHEE = 29,186,000& * 5% 1,460
201 24l 124,438 127,210 N2,772
01 At 2t 2l 29,098 31,930 AN2,832
o ZEARE, SRS, AlUOHZ A2
- 200,000& = 12& 2,400
o MgJ SEM =5 7
1,040& = 12000 = 123 1,498
o UHHAIUOHA MAE HEZ2NE ARE
- 600,000& = 504 = 23| 6,000
o ZLAMRA Y =SHAZ, AUOHHZR 22l
JHAAE S = 600,000& = 12& 7,200
o UHEAUOIHID 223 M2 A
= 150,000& * 12& 1,800
o YHEAUDOIHIZ =223 Ze2biole sA
2l 29 =2 250,000& = 12& 3,000
o AHESAIUIOHID Ag2te] HEH 829 ==
=3 450,000& = 123 5,400
o HFMNLX=2 == 100,000& * 9H » 23 1,800
02 2324gHl 95,340 95,280 60
o ZZIMBA L SHAZ, EL, IIZS,
AUIOHHIZ &JIR3 5,200,000& * 123 62,400
o St¥AER =H=E 19,0008 * 30 * 23 1,140
o ZLAMRA Y =SEAZ, AUOHZ HZ
gl 900& = 403 * 254 = 20 1,800
o Hds2ZX AMEsX  3,000& = 10,000m 30,000
206 24 3,000 3,000 0
01 MHZ 4l 3,000 3,000 0
o HUYsH & HE 7L
10,000& = 60 « 53l 3,000
207 A O] 50,000 0 50,000
01 2339 50,000 0 50,000
o FdoZ2d 2dst SELHAE B2
50,000,000& * 14l 50,000
307 glz2tol & 7,200 6,000 1,200
05 RIZHRI &t 3 7,200 6,000 1,200
o oI eHMelAld 22/AE 23
600,000& = 12& 7,200
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fAH: S2st22 1
HH: 25 AN L DBA Y
©9: 3RASE N (29l & 2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 32ISE FEA, St=HMlAE, Kot
&dlle3 200,000& = 12& 2,400
o SHM2F=XE &4 & St=XelAE &I
23 400,000& = 123 4,800
o 23 STFH BasIE
19,000& » 10& = 23] » 204 760
o 33ZSE A4 |XH 2,5008 * 1,500m 3,750
o =3MI2=NE AEF
2,500& = 1,000m" = 302 7,500
307 glz2+ol & 10,260 9,000 1,260
05 RIZt2IE = 10,260 9,000 1,260
o 32 isstaHANE e
285,000 * 3 * 128 10,260
401 Al HIZ 2018 10,000 10,000 0
01 A& HI 10,000 10,000 0
o 32Ys0IE LBAE 24
10,000,000& * 14 10,000
22 THA Y 26,100 26,100 0
M EEH IS ALY 5,100 5,100 0
201 ¢er24] 5,100 5,100 0
02 =224l 5,100 5,100 0
o S4FA ANEFT 3,000& = 1,700m 5,100
IEXE HEgdHe =4 21,000 21,000 0
201 L2l 21,000 21,000 0
02 =224l 21,000 21,000 0
o IEXE MEdE AME =X
3,000& = 7,000m 21,000
&A= HH2EFZ2 =4 19,006 11,490 7,516
g&H= Y2 22 19,006 11,490 7,516
101 14 Hl 8,756 11,490 AN2,734
04 JIZHHZ2XRHEE S 8,756 11,490 N2,734
o LRI NAUBER AR Y
138,980& * 6H » 10 8,339
o 40 BEE 8,339,000& = 5% 417
201 Let24E] 250 0 250
01 At 22l 250 0 250
o MEUEW =8 22X 22 MBS
250,000& * 14 250
401 A& HIZ 2018 10,000 0 10,000
01 A& HI 10,000 0 10,000
o ZENHZ NHZEZ AL B
10,000,000& * 14 10,000
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fAH: S2st22 1
a2y 25 2 el
&9 SZSHOIa 22 23 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o EZLSHI S, g4 E MHNEH
olg ME 120,000& » 128 1,440
o EZSHOIIE =243 ¥ 20 =ZHA
266,700& * 4012 + 43 4,268
o S¥3 FA(63E) 3,000,000& = 23| 6,000
o M4 A5 ¢ M2 7
5,000& * 68 » 5L « 128 1,800
o AYUSE HFYHAM 3,000,000& = 13l 3,000
o MI|otMZe|# = 250,000& * 12E 3,000
o SoAH ALY BB
150,000& » 7004 « 12& 12,600
o EZSHOOIA o8 d 8 € 5222 ¢
R E B2 30,000,000& * 14 30,000
o ANE= 3d0IsE SENSTF 78 3,197
- M0l SEHSE(10L)
1403 = 50001 = 123 840
- M0l SEHSE(30L)
4203 * 2000 » 12& 101
- M0l SHEHSE(750)
1,040& = 1000H = 123 1,248
- S48 MY IIsE(20L)
2803 = 30008 = 123 1,008
o ZFSEA 20 OHE 222 FL(EFHE
A 24F) 250,000& = 12& 3,000
o EMEX FL 25,000& = 42tA « 128 1,200
o ZgH % =280 EW 2
250,000& = 3CH = 404 3,000
o ELSHOIIE F2FX Sl
8,000& = 28 « 150 2,400
o EUSHOUND 2YNE ALY
70,0002 = 5% « 23| 700
02 =224l 124,673 121,673 3,000
o EZSHOIIA &IIes
8,000,000& = 12& 96,000
o Mot MEZ 800,000& * 123 9,600
o ELSHOIIE X Ha
12,500& * 320 = 13 4,000
o 45 QEH0 ¥ ACAI RF
1,430& * 1204 = 123 2,073
o EASHOIIA A&z & HUIRX
2,000& = 5,000m 10,000
o EZSHOIE SFULMHAIAE FXNE=
250,000 * 123 3,000
202 044l 6,000 6,000 0
01 SLHOIYI 6,000 6,000 0
o EZSHONDT FRFA
20,000& = 2% = 150€ 6,000
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EX: S22
a2y 25 2 el
e E2ZsSH 0t 2e &9 (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
206 M = Hl 23,280 23,280 0
01 X2 H| 23,280 23,280 0
o E2SZHOOIA Al&22 Mg ¢
5,000& * 85 * 1001 * 63 2,400
o ELZH0OtOE 2F&eE2 Mg +¢ 12,580
- 293 EH| 3,100& * 320%& 992
- B3 5,000 * 292 1,460
- 28 AH = 19,800 * 2& » 30 1,188
- M=E=23 66,000& * 2= = 15J0 = 33 5,940
- 48930 YHES
25,000& * 65 * 1000 * 23l 3,000
o ELSHOINE 22 ME=2 sa(32) #
el 10,000& » 50074 5,000
o E2ZsH0tINA 22 ME=2 & 2
165,000& = 204 3,300
401 AlEHIZL £ 0HY| 90,000 185,000 A 95,000
01 Al&H| 90,000 185,000 A 95,000
o HOIII AW EXA, st&EA & QLUAAHZA
60,000,000 * 14! 60,000
o HIDIID 47t S AEE 24
30,000,000 = 14! 30,000
405 XHAHF S HI 600 20,000 A 19,400
01 AL 2 F S H| 600 20,000 A 19,400
o HIOtO A &Ci2Z2I ol=D 2+
600,000 = 1CH 600
S2SH OO 3 2ZAHA A 6,000 6,000 0
E2SH 0O 22 AHA A 6,000 6,000 0
201 et 9| 6,000 6,000 0
02 2%l 6,000 6,000 0
o HIE240 s¢3 ¥4
1,000,000& * 204 2,000
o 24U 3T &M 200,000  10CH 2,000
o OIHEH ¥ HXAZE B4
2,000,000& = 13| 2,000
MEHs & d2HE 4 1,609,044 1,645,515 N36,471
J| 177,968
< 4,090
= 1,426,986
MEHS DAL BHXSE 337,760 332,372 5,388
J| 177,968
= 4,090
= 155,702
UBIME S KNS X (BSXY) 146,160 140,012 6,148
J| 73,080
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2N
X ZH -
L= B

el

St
HEH=s & s 4
MEYSDALICA 2

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

HJ

73,080

307 21201 A

H X

146,160

73,080
73,080

140,012

6,148

o bt WEHFA A HHX

2,436,000 * 5% » 123

H X

146,160

146,160

73,080
73,080

140,012

6,148

HE2AMEHSXESA HI(2SXH)

H X

146,160

73,080
73,080

144,840

1,320

307 21201 &

X

146,160

73,080
73,080

144,840

1,320

o MMM =X BHXI
2,436,000& = 5& « 12E

H X

146,160

146,160

73,080
73,080

144,840

1,320

AEXAMOIED KBAS

S

VN

41,600
29,120
3,744
8,736

43,680

A2,080

S

EUNL

41,600
29,120
3,744
8,736

43,680

A2,080

o AHREARO0SH XA

41,600,000& = 14!

S

EURLY

41,600

41,600
29,120
3,744
8,736

43,680

A2,080

ZOHO AXT2AXH0IEA XNBAY

S

Mo

3,840
2,688
346
806

3,840

N

EUNL

3,840
2,688
346
806

3,840

ZxAH0IED XA

3,840,000& * 14!

S

M

3,840

3,840
2,688
346
806

3,840
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2N

S22
HM: MEHs L A2HE 4
e MEsHdiaedessy (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
NIz 1,271,284 975,004 296,280
AHZEMNEXIITEE2A 403,860 387,820 16,040
201 et d| 840 2,800 A 1,960
01 AP 2t 2| bl 840 2,800 A 1,960
o HFRESFIR 2YSIAG BHLY
70,0003 * 4% = 33| 840
301 et ™M= 401,020 385,020 16,000
Vst - 2sESE2M2 401,020 385,020 16,000
SEN=10] 210,000,000& = 1€ 210,000
o e HAS 100,000,000 * 14! 100,000
o 4 BEE 2= 23,520,000 23,520
o g =&Y 2,500,000& = 53| 12,500
o gt=A 29| 500,000& ~ 12& 6,000
o XAHIHE 24| 500,000 ~ 12€ 6,000
o SFH| 600,000& * 12& 7,200
o RS= 2,000,000& = 43| 8,000
o g&Z 2,600,000 = 3™ 7,800
o Z@d S 1,500,000 * 12& 18,000
o WY ¢ 500,000 = 43| 2,000
405 XHoHFE S HI 2,000 0 2,000
01 XA E B F S| 2,000 0 2,000
o MATH B4 WY AXI| 7Y
2,000,000 = 1CH 2,000
Mt XA MsUs X 246,000 236,000 10,000
307 QI2t0| & 246,000 236,000 10,000
02 AI2tAAMAIE E =X 246,000 236,000 10,000
o NMetd e HsHa ot 226,000
- M60s Mt e M=Esl &0t
130,000,000& * 13| 130,000
- MI333 Nt MEHSUSHE ZI
60,000,000& * 13| 60,000
- M293 NMetd = HOeIM=s &I
15,000,000& = 13 15,000
- et Hoo MEM=sUEsA EOF
8,000,000& = 13 8,000
- dNetld T (HE2d MEN=sUsA &
9,000,000& = 13 9,000
- Nt elol MEdsUss &t
4,000,000& = 13 4,000
o Metd XA &Y dH=sUal &It
12,500,000& = 13 12,500
o M2 cetEe=T s &It
1,000,000& = 33| 3,000

- 286 -




fAH: S2st22 1
MY MEIS Y M2AR S4
ool HSHHNELLLTY (ol @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o E2E HoHe MO Ot
1,500,000 * 33l 4,500
A4S MSSAXA 382,024 137,024 245,000
201 £B-2dH| 23,024 8,024 15,000
01 At 22l 23,024 8,024 15,000
o 20238 Metde M=EUaE =X 22 €3
10,000,000& * 14 10,000
o 2E g & MsA =&
10,000,000& * 14 10,000
o 2AZ UE L MSHA EZ S|
8,000& = 3% * 126¥ 3,024
202 04l 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
o 2= 48 U MSHA KA S
20,0003 = 28 = 100 4,000
307 21201 A 355,000 125,000 230,000
02 It S AHE L 20,000 20,000 0
o NMetd Msia 8+ =4
10,000,000& * 23] 20,000
04 DIZHHALALSE E X 335,000 105,000 230,000
o AZLAIEIH BS=2E U3l
88,000,000& = 13l 88,000
= 24 AOE=Z Hal 3,500,000& = 43| 14,000
o 4z AE Y AMIHHM MSUE

3,000,000 =+ 13l 3,000

o H26s ROIMSMHE  220,000,000% * 13l 220,000
o W418 AL XAl 2SS
10,000,0008 * 13| 10,000
M2 ZFY Ha N 102,000 107,000 5,000
307 9I2+0| ® 102,000 107,000 A5,000
04 DIZFSHAAL Y B 102,000 107,000 5,000
o ®= ZFFI L3l M3
102,000,0008 * 13] 102,000
ZH2ASS N 137.400 107,160 30,240
307 QI2t0| ™ 137.400 107, 160 30,240
02 QI B MAY B X 11,000 39,800 28,800
o Fid =70 29
500,000 * 1% * 122 6,000
o Zojel HSEBZ N 5,000,008 + 13l 5,000
03eLEHYI AL R E 126,400 67,360 59,040
o MSs YU (HY RA2AH S) N
6.250,000% * 427 25,000
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EX: S22
HM: MEHs L A2HE 4
ool HSHHNELLLTY (ol @)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o H=3 AIRA 2z K&
6,000,000& = 1A 6,000
o H=3 AR=2ZE ESH|l S
2,100,000& = 1€ = 12& 25,200
o M=z 2tAI ESH|l £
1,800,000& = 1€ = 128 21,600
o HK3 AME=2 NEH 2 ZH X2
200,000& = 129 * 12& 28,800
o HSss MENSNZAH LY =2 7,800
227|2t 3 ~ /4 50,000& * 29 = 12&€ 1,200
- 220|126 ~ 10¢
100,000& * 49 = 128 4,800
- 22012 1@ 0l &
150,000& * 1¥ = 128 1,800
o M=3 AIR=2 HEFIHHl X3
500,000& = 23] » 129 12,000
HHSAHAY (S22 ) 67,089 65,032 2,057
olad 2 A Y| 47,569 46,112 1,457
oled A Y| 47,569 46,112 1,457
101 @1214| 47,569 46,112 1,457
01 = 44 882 43,508 1,374
o A2HZ2R4E
10,841& » 152 * 23A12F = 128 44,882
02 JIEtE 2 % 2,687 2,604 83
o AZI2LLEY (UM 824 )
9,733& * 1&H = 23Al2t ~ 12& 2,687
JlE&ddl 19,520 18,920 600
Jl2 &34l 19,520 18,920 600
201 LBt 9H| 14,720 14,720 0
01 AP 22| d| 14,720 14,720 0
o 2AEX 25,000 * 108tA « 8& 2,000
o ZTZIHEY 250,000 * 50 * 404 5,000
o HHEE 1502 = 8,0000H 1,200
o HHARES 10,000& » 7=  12& 840
o M2RER 3,480
- 32X 18,000& » 55 * 12& 1,080
- X &X 10,000& = 208 = 128 2,400
o H£J|&e 50,000& * 10§ = 12&€ 600
o SA)| =2l 400,000& = 2CH = 23] 1,600
203 € R =& 4,800 4,200 600
04 EASHEIRFAH| 4,800 4,200 600
o 302! 0O|at 400,000€ * 12€ 4,800
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S BB (BA) - MRAY - BYS il
HRas (2322 n) 300,000 300,000
LHEHH X E 300,000 300,000
WEHH X = 300,000 300,000
0218 &E3 300,000 300,000
01 JI=sd&E=2 300,000 300,000
o MsdEIIS 300,000,000& = 13l 300,000
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